
 

                   θ                                                              θ 

                                                                                    T2 

                                                       T1              

 

 

 

                                                                     W  

Θα αναλύζοσμε ηις ηάζεις ηων νημάηων ζηην οριζόνηια και καηακόρσθη διεύθσνζη. 

Ιζτύοσν: Τ1x = T1.ζσνθ, Τ1y = T1.ημθ, Τ2x = T2.ζσνθ και Τ2y = T2.ημθ 

Αθού ηο ζώμα ιζορροπεί θα ιζτύοσν: 

ΣFx = 0 => T2x – T1x = 0 => T2.ζσνθ = Τ1.ζσνθ => 
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ΣFy = 0 => T1y + T2y – w = 0 => T1.ημθ + Τ2.ημθ = mg => 
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